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1 ' 2 3 4 5 6
1000 CEIRELLE LS TR 4286909.535 | 4043638.700 | 243270.835
{tnnn 1100 + wninn 1200+wnn 1300)
wjn pynLy’
1100(1. 3UPYEP B4 SNHPREP 7100| 1263273.7 1263273.7 X
(nnn 1110 + winn 1120 + winn, 1130 + winn, 1150 + winn, 1160)
wyn pynty’
1110{1.1 Qnujpwjhl hwplybp whwnpd qniyphg 7131 455624.3 455,624.3 X
w)n pyntd”
Anijpwhwpy hwiw)lplbph Juwpswlwl nwpwéplbpnid qunGynn
1111 2bliptih U phlintpntGGhinh hwdwp, nphg’ 81,198.0 81,198.0 X
Dhahlwlwl widwlghg 50,913.0 50,913.0
hpwywpwlwywlw wiéwhghg 30,285.0 30,285.0
1112 3nnh hwpy hmdw;[\ugﬁbnh Juwpswlwh nwpwéplbpnud qunbynn 91.583.0| 91,583.0 X
hnnh hwdwp, nphg
Qnin. Gwlwlynipjwl hnnkp 79,904.0 79,904.0
ng gnin. Gpwlwlnipjwl hnnbp 11,679.0 11,679.0
Wlpwnd gnypeh hwnl, nphg* 282,843.3 282,843.3
Ulpwnd gnuph hwnl /hpwywpwliwywl wudwlughg/ 40,905.000 40,905.000
Ulpwnd gnuyph hwnl /$hghlwlwl wléwlughg/ 241,938.300 | 241,938.300
1120| 1.2 9nupwjhG hwpybp wyp qniphg 7136 710720 710720 X
wjn pynd’
1121] Qnupwhwnl thnfuwnpwihenglbph hwdwn 710,720.0 710,720.0
1.3 Uypwlplbph oquwgnpéiwh Ywd gnpénilbnipjwi
1130 hpuwilwGwgBwG pouygunyntpywl YewnGbn 7145 78929.4 78929.4
wyn pynLd®
1131 Sbnwlwh wnLppbp frariard 78929 4 789294 X
(wnn 1132 + wnn 1135 + winn 1136 + winn 1137 + winn 1138 +
wnnn 1139 + inn 1140 + winn 1141 + wninn 1142 + wninn 1143 +
wnn 1144+wnn 1145+unnn
1146+wnn1147+wnnn1148+wnn1149+wnnn1150)
w)n pyntd”
w) Jwdw)lph wnwpwépned Gnp 260pkph, 2hGnupyniGhEph
1132 (Gbpwnywy ng hhilwlwb) 2hGwpwpnipnil (nbnwnpdwb) 9000.0 9000.0 X
pninynipjwl hwdwp (wnn 1133 + innn 1334),
nphg'
1133 ww) Ipdlwlwh phGnipyntlGbph hwdwp 9,000.0 9,000.0 X
1134 wp) Ng hhulGwlwh 2hGnepyniblEph hwdwp 0.0 X
p) Swdw)Gph Jupswlwl nwpwépnud pEGpbnph,
2hGnupyniGltph, pwnwpwhGulwi wy| opjEynGbph
1135 YGpwlwnnigdw, nidbnugdiwd, Yepwlywhqbiwa, 0.0 X
wnnhwywiwgiwl wzuwnwbplbp (pwgwenipjwip 33 -
ontiliunppjwip uwhiwlywé® phGwpwpnipjwh pnypindnig)ntl
swwhwbeynn nbwpknh) Yuwwwpbine poypndnipyjwl hwdwn
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q) 3wiw)lph Jupswlywl nwpwépnid 2tGpkph,
1136 2hGnipinLGhbnh, pwnwpwzhbwlwl wy) op)tYwnGaph 150.0 150.0 X
pwliniwd pnijpinynipjwl hwdwp
n) 3wdwjlph nwpwépntd ngbithg fudhgplbph L (Yud)
Stuwtuninh wpunwnpwiph Jwsdweph, hul hwlpwyhb ulGGnh
1137 opybljnGbpnLd® nqihg fushseltinh b () shuwtunih 27,386.0 27,386.0 X
wpunwnpwlph hpwgdw pnyjpnynipjwl hwdwp, Gl pynud’
-nqbLhg fudhgplbph hpwgdwl hwdwp hhda. 2hG Gepuncd 15,876.0 15,876.0
-Gtuwfunwnh hpwgdwl hwdwp hhdGwywh 2h0 GEpunud 11,510.0 11,510.0
1138 ) Jwdw)lph nwpwépnid pwgopjw Jwdwnp juqiwybpwbint 34237 34237 X
pnijinynipjwl hwdwp
q) 3wdw)lph nwpwépntd hbnniy uebhph, tnbubhywlwb
hbnncyGbph, hEnniywgdwé qugbph Swlpwéwiu welnph
1139 | bunbpnud htinntl Yuwnbitheh, whhuGhywlwG hennLyGenh, AR P00 %
hnniywgywé qugbkiph ywdwnph pajpnynipjwl hwdwn
£) 3wdw)lph nwpwdépnid welnph, hwipwjhb uGbnh,
qUundwlph, pwhnidny fuwnbiph b yhSwlwfuwnbph
1140 YJuwqgiwlbpwdwh opjtywnlbpp, pwnGhplbpp (uwnLbwbpp), 2,450.0 2,450.0 X
fuwnwwGbpp dwdp 24.00-hg htwnn wpfuwwnbpne pnjngnipjwl
hwdwp
1142 p) Fwidw)lph nwpwdpnLd wpwnwphl gnywan wmbnwnpbint 17.515.7 17.515.7 X
pnijiindnipjwl hwdwp
dp) Pwilwndbp dbEunwnlbphg wwwnpwuwnywds hpbph
s Gwlpwéwiu weniwdweph pnjpnynipjwl hwdwnp 0 g X
1146 dg)3wdwjuph wuywlncdp $hpduwhu wujwunwduGpnid 400.0 400.0
oquiwgnpdbinL pnijjnynipjwl hwdwnp
1147 dn)luwunieUtnpnud , Ypuwwlubpnod inbhubhlywywl hennLyutnh 3,300.0 3,300.0
Jwdwnph pnijindnipjwl hwdwnp
1148 dt)3wdwjuph tnwnpwépnud hwlpwjhl ubunh juquwybpwdwu 3,544.0 3,544.0
L hpwguwl pnijpinynipjwl hwdwp
1149 Angthwlquunh Shuwywunwpniejwl swnwjnLntultph 2,000.0 2.000.0
hpwywlwgned
Ywnwnyth, nhuynwntyh, pwnuhph, uwniuwih W 2ngGpwnuhph
1150 3 60.0 60.0
hwdwp®* opwgnrguwihl tnwnyw hwdwn
1150 1.4 Uwpwplbph dwwwlwpwpniihg b dwrwjnip)niGGhph 7146 18000.0 18000.0 X
dwwnnigniihg wy] wwpuwnhp ydwplbp
wyn pynLd’
1151 JwdwyGph pjneel yGwpynn whnwlwb wninppbip 18000.0 18000.0 X
(nnn 1152 + inn, 1153 )
wjn pyntd’
w) Pwnwpwghwlwl Jugnipjwl wywnbp gpulgtbint, npuwig
dwuhl pwnwpwghlbphb Ypllhwyh Jyujwywbbbn,
1152 pwnuwpwghwlwl ugnipjwl whwmbpnid juunwpwé 3,000.0 3,000.0 X

qpwneniibbpnid thnthnfunipynLlGtp, |pwgnudlbp, nunnnudlep
Yuwnwpbint b JGpuwlwiqbdwh Juuwwlgnipjwdp
YYwjwlwalbp nwpnt hwiwp
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p) Lnunnwpwlwh gpwubkGyulybph Yynndhg Gninwpwlwh
dwnw)nipntGibp yuunwpbpn, Gnunwpwlwi Yupgny
Juybpwgywé thwuwnwenpbph YpybophGwlbbp nwint, Gadws
dwndhGGeph Yynnidhg gnpéwpplbph Gwhuwgstp L nhdnwdGbp
Ywqdtnt, thwunwenpbph wwwndblbp hwibine L npwlghg
pwnywéplbp nwnt hwdwp

15,000.0

15,000.0

2. mucsnuuyUL ruUucLNPILEN

(nnn 1210 + winn 1220 + winn 1230 + wnn 1240 + wninn 1250 + wninn,
1260)

wjn pynti’

7300

2544124.435

2300853.60

243270.835

2.5 Lopwghy Gepph0 wwwnnGwywh npwdwGnphlGbp’
unwgywd juwrwywpiwl w)) dwhwpnwybbphg

(nnn 1251 + winn 1254 + wninn, 1257 + wnnn 1258)

nphg’

7331

2300853.6

2300853.6

w) Menwlw pjnobhg Phlwbuwlwh hwiwhwppbgdwl
uygpniipny inpwiwnnpdnn nnunwghwlbp

2,292,836.7

2,292,836.7

q) Menwlwh pjnipbhg npwiwnpynn GwwunwlwihG
hwnlwgnudlbp (unipdbighwhbn)

8016.9

8016.9

2.6 Ywyhuw) Gepphl Wwnnlwlwb npwiwbGnphbbp’
unwgywé Junwywpiwl wy dwliwpnuwlybbphg

(innn 1261 + winn 1262)

wjn pynty”

7332

243270.835

X

243270.84

1261

w) MEnwlwh pjnethg Yuwwhunwy éwhuubph $plwluwdnpiwb
Oywwwlw)hl hwnlwgnidbbp (unipdtlGghwbp)

243270.835

X

243270.835

1300

3. USL syuunksuer
(nnn 1310 + winn 1320 + winn 1330 + winn 1340 + winn 1350 + winn
1360 + wnnn 1370 + wnnn 1380)

wjn pynLy’

7400

479511.4

479511.4

0.0

1330

3.3 Anijph Juwpdwlwinipjnibhg GYwdninGbp
(nnn 1331 + winn 1332 + wnnn 1333 + 1334)

wyn pynLy’

7415

68129.700

68129.700

1331

Jwiw)Gph ubthwywhnp)nil hwdwpynn hnnkph
Jupdwywnipjwl Jupdwdswplbp

27,031.500

27,031.500

-gjnLnwnlnbuwywl Gpuwlwynipjwh

16,838.500

16,838.500

-ns gJninwnlinbuwlw Gpuwlwynipjwl

10,193.000

10,193.000

1333

Jwiw)bph Jupswlwl nwpwépntd gunbynn whwnnipjwlb b
hwiwylph ubthwlwnpjwlp wWwwnlwlnn hnnwdwubph
Yurnigwwwwndwl hpwynitph nhiwg quiddnn JuwpdwSwnbbp

28,000.00

28,000.00

1334

Ujp gnijph JupdwlwyinipjnilGhg dnuinpbip

13,098.20

13,098.20

X

1340

3.4 [widw)lph pjnebh GYwidnunbbp wwpwlpbGph
twwwlwpwpniihg b éwewinipintGGbnh dwwnnwgniihg
(innn 1341 + innn 1342)

wjn pyntd’

7421

3998.00

3998.00

1341

Swdwjuph gnuyphl wwwndwreywsd Juwuh hnfuhwwnnignudhg
UnLunptin )

0.00

1342

Mbwnipjwl Ynnihg nbnuywh hOplwlwnwywpiwb
dwpihGobpp0 wwndhpwlyywé thwgnpnepntlbbph
hpwlwlwgdwh dwiuutph $hlwluwynpiwl hwdiwp whunwywl
pinipthg unwginn shonglkn

3998.00

3998.00

1350

3.5 Jwpswlwil qubdnLiGbp
(nnn 1351 + nnn 1352 + wninn 1353)

7422

387383.70

387383.70
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wyn pynLd’
1351] Sbnwlwb yswplGbp 341883.70 341883.70 X
Ulwulwpnidwlwl swewjnipnilltphg yéwn 75.00 75.00
Bunnwywl Y&wnpukn 172158.70| 172158.70
Unpwhwlniejwl yéwn . 165010.00| 165010.00
ChlOwpwpnipjwl wywpwp thwunwagnbnt hwdwn 2000.00 2000.00
ChlnLpntllbnh 2whwgnpduwl pnyuny. hwdwp 2000.00 2000.00
Ungniypltp L waénipnlbp jugiwybpwbint hbn Juwdwé wtu 640.00 640.00
Jwdw)ph Jwpswlwl nmwpwdépnd hOphwlwd juenigwd
g 2t0pkph, 2hGnipniblEnph ophlwlwlwgdwh hwdiwp JawnGbp ESRUCOL | aEeen 0 A
OnptOpny uwhiwbywé nbwpbpnid hwdw)Gpw)hG hhaGwplyGeph
Yynnihg wrwlg nEnwywl nnipph quiddwh dwwnnigynn
{538 Gwnw)nipnLbbbph Yuwd Ywwnwpynn gnpénnnipynGGbph nhiwg 2500.00 2500.00 i
unwgynn (qwGdynn) Jswnpbbp/Jepwhwugbwynnnud/
Puwysnipjwl hwwnnty uwwuwnpyniuhg Uninpkn 5000.00f  5000.00
1360]3.6 UnLinptip wninyydtphg, niniqubplbiphg 7431 5000.00 5000.00 X
(ininn 1361 + winn 1362)
w)n pyncd®
Jwpswlwl hpuwdwhuwfunnudGEph hwdwp mbnwiwh
1361 hOplwlywrwlywnpiwl SwpdhGheph Ynnihg 5000.00 5000.00 X
wwnwyuhuwOwwndnieiwd dhongGtinh Uhnwentiha Buwdnunbbn
Uniinptin hwdw)lGph pjnipbh GYwndwip unwidbwé
1362 wuwjdwlwagpuihl wywpuwynpnipiniblbph sywwnwpdwh nhiwg 0.00 X
quwldynn wniniydtiphg
1370|3.7 LGpwghy ng wwownnGwlwl npwiwGnphbbp 7441 15000 15000 X
(innn 1371 + wnn 1372)
wjn pynid’ 0
bdhghiwlwl whdwhg L jugiwybpwnipniGGbph
Guhpwptpnipnilhg hwiw)Gphl, Yepehlhu Glipwljw
pynipbitnwyhG hhdGwpyGbph wbophGiwGh whgwé gniph
1371 (hhdlwywG dheng Ywd ng Gynipwlwl wlhwnhy shwinhuwgnn) 10000 10000 X
hnwgntihg L npwiwlwG dhenglbinhg plpwghly dwiuutiph
Ihlwluwynpiwl hwdwp hwdwlph pjniet unwgywé dnnpbp’
npwdwnpywé wpunwphl wnpyniplbphg
dhahlwlwl widwhg L YwgdwhbpwnipintGGeph
GdhpwptpnipinilGhg hwidw)lGphG, yepehGhu Ghpwlw
pynipbitnwyhG hhdbwpyGbph wbophGiwGh whgwé gniph
1371 (hhdGwywh Sheng Yuwd ng Ginipwlwl wywhy shwlnhuwgnn) 5000 5000 X

hnwgntihg L npwiwywh dhengltphg plpwghly dwhuutiph

$hlwluwynpiwl hwiwp hwdwjGph pjniob unwgywé dnunpbp’

inpwiwnpywé GEnpphl wnpjnipltiphg
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